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Abstract

This document provides resolutions for CID 86.
The changes are in the following subclause: 9.32j



Table of Contents
0 Revision Notes	2
1 Proposed Changes 	3

[bookmark: _Toc346617786][bookmark: _Toc346618623][bookmark: _Toc353870760]0 Revision Notes

R0:	First draft
	CID
	Comment
	Page Number
	Subclause
	Line Number
	Proposed Changes
	Proposed Resolution

	[bookmark: RTF37393931393a2048342c312e]86
	last paragraph of the subclause does not define any normative behaviour (the behaviour is repeated as it is already been described above and in other sections and it introduced ambiguity)

	149
	9.32j
	
	remove the last paragraph of 9.32j

	Revised

– see document IEEE 802.11-13/1093r0 for the resolution






Discussion: Agree in principle with the comment. However, the first sentence of the last paragraph is necessary. Hence only the redundant text is removed and the first sentence is kept.  

[bookmark: _Toc354045215]Proposed changes

9.32j TIM and Page segmentation
CID 86: The proposed resolution is to revise the text as follows.

Modify the paragraph starting at Page 149 Line 15 as follows: 

At the assigned TIM segment, the STAs decode the TIM segment in order to determine whether there is buffered data available at the AP. The method of decoding is based on the Block Bitmap Mode (see 8.4.2.7.1.1). This determination is with respect to a STA’s AID in the TIM segment and the corresponding bit at that AID position. If the bit corresponding to that AID is set to 0, then it indicates that there is no buffered data for that STA. This STA may return to Doze state immediately. If the bit corresponding to an AID location is set to 1, then it indicates that there is buffered data for this STA.
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